



$$\begin{cases} V_0 = (kT) \ln\left(\frac{n_i}{N_{aa}}\right) \rightarrow 0 \text{ as } N_{aa} \rightarrow n_i \\ V_w = (kT) \ln\left(\frac{n_i}{N_a}\right) \end{cases}$$

$$Si^+ + h\nu \rightarrow Si^+ + e^-$$

$$E_{si}: \frac{d^2 V(x)}{dx^2} = -\rho(x) = -D(x) - Si^+(x)$$

For $0 < x < x_J$, $D(x) = -N_{aa}$, $Si^+(x) = N_{aa} \exp\left(\frac{V_0 - V}{kT}\right)$

$$\frac{1}{2} E_{si} \left(\frac{dV}{dx}\right)^2 = (N_{aa})(V - V_0) + (N_{aa})(kT) \left\{ \exp\left(\frac{V_0 - V}{kT}\right) - 1 \right\}$$

For $x_J < x < x_W$, $D(x) = -N_a$, $Si^+(x) = N_a \exp\left(\frac{V_w - V}{kT}\right)$

$$\frac{1}{2} E_{si} \left(\frac{dV}{dx}\right)^2 = (N_a)(V - V_w) + (N_a)(kT) \left\{ \exp\left(\frac{V_w - V}{kT}\right) - 1 \right\}$$

at $x = x_J$, $(N_{aa})(V_J - V_0) + (N_{aa})(kT) \left[\left(\frac{n_i}{N_{aa}}\right) \exp\left(-\frac{V_J}{kT}\right) - 1 \right]$

$$= (N_a)(V_J - V_w) + (N_a)(kT) \left[\left(\frac{n_i}{N_a}\right) \exp\left(-\frac{V_J}{kT}\right) - 1 \right]$$

$$(N_{aa})(V_J - V_0) - (N_{aa})(kT) = (N_a)(V_J - V_w) - (N_a)(kT)$$

$$(N_{aa} - N_a)(V_J) = (N_{aa} - N_a)(kT) - \left\{ (N_a)(V_w) - (N_{aa})(V_0) \right\}$$

$$V_J = kT - \frac{(N_a)(V_w) - (N_{aa})(V_0)}{(N_{aa} - N_a)}$$

$$\left(\frac{V_J}{kT}\right) = 1 - \frac{\ln\left(\frac{n_i}{N_a}\right) - \frac{N_{aa}}{N_a} \ln\left(\frac{n_i}{N_{aa}}\right)}{\left(\frac{N_{aa}}{N_a}\right) - 1}$$

as $N_{aa} \rightarrow n_i$,

$$\left(\frac{V_J}{kT}\right) = 1 - \frac{\ln\left(\frac{N_{aa}}{N_a}\right)}{\left(\frac{N_{aa}}{N_a}\right) - 1}$$

- [P2021 IJSSA2021 Paper 20210616 on Electrostatic and Dynamic Analysis of Pinned Photodiodes.pdf](#)
- [P2020 EDTM2020 PaperID 3C4 by Hagiwara 4 pages.pdf](#)
- [EDTM2020 Paper on the P+PN+P Junction Pinned Photodiode and Schottky Barrier Photodiode.html](#)
- [P2019 3DIC2019 Paper on 3D Pinned Photodiode 6 pages.pdf](#)